CHEMISTRY

BOOKS - MODERN PUBLICATION

SOLID STATE

1. Maximum ferromagnetism is found in:

A Fe



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_KXOFzeL7FDTm

B. N3

C.Co

D. None

Answer: A

o Watch Video Solution

2. Crystals can be classified into .. basic

crystal habits?

A7


https://dl.doubtnut.com/l/_KXOFzeL7FDTm
https://dl.doubtnut.com/l/_0MpXYSNweajy

B.4

C.14

D.3

Answer: A

o Watch Video Solution

3. The maximum proportion of available
volume that can be filled by hard spheres in

diamond is:


https://dl.doubtnut.com/l/_0MpXYSNweajy
https://dl.doubtnut.com/l/_uM1qBnRTASAr

A.0.52

B.0.34

C.0.32

D. 0.68

Answer: B

° Watch Video Solution

4. Lubricating properties of graphite are

diminished in presence of:


https://dl.doubtnut.com/l/_uM1qBnRTASAr
https://dl.doubtnut.com/l/_8adBDSjIe3CT

A. High pressure

B. Low pressure

C. Vaccum

D. None

Answer: C

° Watch Video Solution

5. Which do not from amalgam with Hg ?

A. Pt


https://dl.doubtnut.com/l/_8adBDSjIe3CT
https://dl.doubtnut.com/l/_ShW71Ka3U5Ng

B. Fle

C. Both (a) and (b)

D. None

Answer: C

o Watch Video Solution

6. High thermal conductivity of metals is due

to transfer of heat through:

A. Molecular collisions


https://dl.doubtnut.com/l/_ShW71Ka3U5Ng
https://dl.doubtnut.com/l/_L16rXZhchKXm

B. Electronic collisions

C. Atomic collisions

D. All

Answer: B

o Watch Video Solution

7. The metal surfaces are excellent reflectors

because of absorption and re-emission of light

by:


https://dl.doubtnut.com/l/_L16rXZhchKXm
https://dl.doubtnut.com/l/_bYbjTjExWRGR

A. Protons in atom

B. Electrons in atom

C. Neutrons in atom

D. None

Answer: B

o Watch Video Solution

8. An increase in the charge of the positive
ions that occupy lattice positions brings in

a/an..... in methallic bonding.


https://dl.doubtnut.com/l/_bYbjTjExWRGR
https://dl.doubtnut.com/l/_xxoFkr1Df9jm

A. Increase

B. Decrease

C. Neither increase or decrease

D. Either increase or decrease

Answer: A

o Watch Video Solution

9. The hardness of metal increases with
increase in number of ... involved in metallic

bonding.


https://dl.doubtnut.com/l/_xxoFkr1Df9jm
https://dl.doubtnut.com/l/_gbOTtwRkEQKs

A. Atoms

B. Molecules

C. Electrons

D. All

Answer: C

o Watch Video Solution

10. Which shows the highest lattice energy?

A. L1 Br


https://dl.doubtnut.com/l/_gbOTtwRkEQKs
https://dl.doubtnut.com/l/_RuK2yctddukm

B. LiCl

C.LiI

D. L1 F

Answer: D

o Watch Video Solution

11. Each atom in bcc structure has ........ Nearest

neighbours.

A.8


https://dl.doubtnut.com/l/_RuK2yctddukm
https://dl.doubtnut.com/l/_Ut013Gv8im8A

B.6

C.4

D.2

Answer: A

o Watch Video Solution

12. The resistance of mercury becomes almost

zero at :

A. 4k


https://dl.doubtnut.com/l/_Ut013Gv8im8A
https://dl.doubtnut.com/l/_NOVxevf0HsM0

B. 10k

C. 20k

D. 25k

Answer: A

o Watch Video Solution

13. All the substances become diamagnetic at :

A. 4k

B. 10k


https://dl.doubtnut.com/l/_NOVxevf0HsM0
https://dl.doubtnut.com/l/_BnFjXmuOzrVZ

C. 20k

D. 25k

Answer: A

o Watch Video Solution

14. Extremely pure samples of Ge and Si are
non-conductors ,but their conductivity
increases suddenly on introducing ... In their

crystal lattice .


https://dl.doubtnut.com/l/_BnFjXmuOzrVZ
https://dl.doubtnut.com/l/_NmukCKOIxe4A

A As

B.B

C. Both(a) and (b)

D. None

Answer: C

o Watch Video Solution

15. Solids are characterised by their properties


https://dl.doubtnut.com/l/_NmukCKOIxe4A
https://dl.doubtnut.com/l/_ixBHy9HuNWpx

A. Incompressability

B. Mechanical strength

C. Crystalline nature

D. All

Answer: D

o Watch Video Solution

16. A solids having no definite shape is called :

A. Amorphous solid


https://dl.doubtnut.com/l/_ixBHy9HuNWpx
https://dl.doubtnut.com/l/_lGqURxQVE6Z8

B. Crystalline solid

C. Anisotropic

D. None

Answer: A

o Watch Video Solution

17. A solid having no definite geometrical

shape with flat faces and sharp edges is :

A. Amorphous solid


https://dl.doubtnut.com/l/_lGqURxQVE6Z8
https://dl.doubtnut.com/l/_vbknI2Eb8vFF

B. Crystalline solid

C. Isotropic solid

D. None

Answer: B

o Watch Video Solution

18. The crystals are bounded by plane faces (f),
straight edges (e) and interfacial angle (c). The

relationship between these is :


https://dl.doubtnut.com/l/_vbknI2Eb8vFF
https://dl.doubtnut.com/l/_zw6L1i9kCOZg

A. f+c=e+2

B. f+e=c+2

C. c+e=f+2

D. None

Answer: A

o Watch Video Solution

19. A cubic crystal possesses :

A. 9 plane of symmetry


https://dl.doubtnut.com/l/_zw6L1i9kCOZg
https://dl.doubtnut.com/l/_WG5mmynE0dWN

B. 13 axis of symmetry

C. 1 centre of symmetry

D. All

Answer: D

o Watch Video Solution

20. A cubic crystal possesses in all ...

Elements of symmetry .

A9


https://dl.doubtnut.com/l/_WG5mmynE0dWN
https://dl.doubtnut.com/l/_dy9UtJe0NXGJ

B.13

C.1

D. 23

Answer: D

o Watch Video Solution

21. Which is (are) amorphous solids?

A. Rubber

B. Plastics


https://dl.doubtnut.com/l/_dy9UtJe0NXGJ
https://dl.doubtnut.com/l/_vltlCYHS9oHc

C. Glass

D. All

Answer: D

° Watch Video Solution

22. lodine crystals are:

A. Metallic solids

B. lonic solids

C. Molecular solids


https://dl.doubtnut.com/l/_vltlCYHS9oHc
https://dl.doubtnut.com/l/_aM8iAKVBQ6ax

D. Covalent solids

Answer: C

o Watch Video Solution

23. The number of molecules of NaCl in an unit

cell of its crystal is:

A2

B.4

C.6


https://dl.doubtnut.com/l/_aM8iAKVBQ6ax
https://dl.doubtnut.com/l/_T7L0HCWCVUhk

D.8

Answer: B

o Watch Video Solution

24. Zinc blende type structure has what co-

ordination ratio?

A2

B.6

C.4


https://dl.doubtnut.com/l/_T7L0HCWCVUhk
https://dl.doubtnut.com/l/_RnACQDsr0YE5

D.8

Answer: C

o Watch Video Solution

25. The ratio of closed packed atoms to

tetrahedral holes in cubic close packing is:

A 11

B.1:2

C.1:3


https://dl.doubtnut.com/l/_RnACQDsr0YE5
https://dl.doubtnut.com/l/_ZNOniFS247Ul

D. 2:1

Answer: B

o Watch Video Solution

26. How many kinds of space lattices are

possible in a crystal?

A. 23

B.7

C. 230


https://dl.doubtnut.com/l/_ZNOniFS247Ul
https://dl.doubtnut.com/l/_1J1W6Q5PG0rX

D. 14

Answer: D

o Watch Video Solution

27. The vacant space in body centred cubic

lattice bcc unit cell is about:

A.0.32

B. 0.1

C.0.23


https://dl.doubtnut.com/l/_1J1W6Q5PG0rX
https://dl.doubtnut.com/l/_MbaNlwzCpITJ

D.0.46

Answer: A

° Watch Video Solution

28. A match box exhibits:

A. cubic geometry

B. monoclinic geometry

C. orthrohombic geometry

D. tetrahedral geometry


https://dl.doubtnut.com/l/_MbaNlwzCpITJ
https://dl.doubtnut.com/l/_H8ENcaO1kdHI

Answer: C

o Watch Video Solution

29. Which stoichiometric defect decreases the

density of the crystal?

A. Schottky

B. Frenkel

C. Fcentre

D. Intrestitial


https://dl.doubtnut.com/l/_H8ENcaO1kdHI
https://dl.doubtnut.com/l/_VXSpvyWRhjlQ

Answer: A

o Watch Video Solution

30. Solid C'O5 is an example of:

A. Molecular crystal

B. Covalent crystal

C. Metallic crystal

D. lonic crystal

Answer: A


https://dl.doubtnut.com/l/_VXSpvyWRhjlQ
https://dl.doubtnut.com/l/_93M9gCzHCSt3

° Watch Video Solution

31. The three states of matter are solid, liquid

and gas. Which of the following statements

are correct about them ?

A. Gases and liquids have viscosity as a

common property

B. The molecules in all the three states

posses random translational motion


https://dl.doubtnut.com/l/_93M9gCzHCSt3
https://dl.doubtnut.com/l/_UhUVfMFWK77z

C. Gases cannot be converted into solids

without passing through the liquid

phase

D. Solids and liquids have vapour pressure

as a common property

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_UhUVfMFWK77z

32. The intermetallic compound LiAg
crystallises in cubic lattice in which both Li and
Ag have co-ordination number of eight. The
class of crystal is:

A. Simple cubic

B. Body centered cubic

C. Face centered cubic

D. None

Answer: B

‘ ° Wiadk hh \iAAaA CAaliikianm



https://dl.doubtnut.com/l/_HglRJmIxvvWQ

VVCILLIL VI INAGINI L] J

33. The number of atoms/molecules present in

one body centred cubic unit cell is:

Al

B.2

C.4

D.6

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_HglRJmIxvvWQ
https://dl.doubtnut.com/l/_ymO2R1TzWAd1

34. Wax is an example of:

A. lonic crystal

B. Covalent crystal

C. Molecular crystal

D. Metallic crystal

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_ymO2R1TzWAd1
https://dl.doubtnut.com/l/_RCSdDzAzYRMy

35. In a crystal, the atoms are located at the

position of....potential energy.

A.Zero

B. Infinite

C. Minimum

D. Maximum

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_01OnSABsQzvs
https://dl.doubtnut.com/l/_s0PnQIp7kHOB

36. In a solid lattice the cation has left a lattice

site and is located at an interstitial position.

The lattice defect is known as -

A. Interstitial defect

B. Valency defect

C. Frenkel defect

D. Schottky defect

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_s0PnQIp7kHOB
https://dl.doubtnut.com/l/_SCtIVpPgzWdU

37. Ca F; possesses:

A. Face centered cubic

B. Body centered cubic

C. Simple cubic

D. Hexagonal closed packing

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_SCtIVpPgzWdU

38. For an ionic crystal of the general formula
AT B~ and coordination number 6, the
radius ratio will be:

A. Greater than0.73

B. Between 0.73 and 0.41

C. Between 0.41 and 0.22

D. Less than 0.22

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_TfIaC4JHj9ey

39. Which substance

antiferromagnetism?

A. Z’I"Oz

B.CdO

C. C?"Oz

D. M’I’LOg

Answer: D

shows

o Watch Video Solution



https://dl.doubtnut.com/l/_PgdSxdSJJehM
https://dl.doubtnut.com/l/_U7rbCAHambcW

40. The coordination number of Ca?™ ion in

fluorite crystal is:

A2

B.8

C.6

D.4

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_U7rbCAHambcW

41. Metals have specific conductivity of the
order of (ohm — lem — 1):

A.107(12)

B. 10"(8)

C.107(2)

D. 10%(-6)

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_8lrXQNlMFZUi
https://dl.doubtnut.com/l/_HofblSAxC1bo

42. In crystal structure of rock salt (NacCl), the

arrangement of CI ~ ionis:

A f

B.b

C. Both(a) and (b)

D. None

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_HofblSAxC1bo

43. Which crystal is expected to be soft and

have low melting point?

A. Covalent

B. Metallic

C. Molecular

D. lonic

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_WBzlZF0yARAf
https://dl.doubtnut.com/l/_iKR5A0rvUdAw

44.The elements of symmetry in a crystal are:

A. Plane of symmetry

B. Axis of symmetry

C. Centre of symmetry

D. All

Answer: D

° Watch Video Solution

45. Molecular crystals exist in:


https://dl.doubtnut.com/l/_iKR5A0rvUdAw
https://dl.doubtnut.com/l/_g0Yj3fVGVvua

A. Crystalline state

B. Amorphous state

C. Non- crystalline state

D. All

Answer: D

o Watch Video Solution

46. Quartz is an example of:

A. Chain silicate


https://dl.doubtnut.com/l/_g0Yj3fVGVvua
https://dl.doubtnut.com/l/_ZwHp42BRYC07

B. Infinite sheet silicate

C. Framework silicate

D. Cyclic silicate

Answer: C

o Watch Video Solution

47.n antiflourite structure, the negative ions:

A. Occupy tetrahedral voids

B. Occupy octahedral voids


https://dl.doubtnut.com/l/_ZwHp42BRYC07
https://dl.doubtnut.com/l/_RPokuV8nOAy8

C. Are arranged in ccp

D. Are arranged in hcp

Answer: C

o Watch Video Solution

48. The pure crystalline substance on being
heated gradually first forms a turbid liquid at
constant temperature and still at higher

temperature turbidity completely disappears.


https://dl.doubtnut.com/l/_RPokuV8nOAy8
https://dl.doubtnut.com/l/_FopkbwqBAiC7

The behaviour is a characteristics of substance

forming:

A. Allotropic crystal

B. Liquid crystal

C. Isomeric crystals

D. Isomorphous crystals

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_FopkbwqBAiC7

49. lonic solids with Schottky defects contain

in their structure:

A. Equal number of cations and anion

vacancies

B. Intrestitial anions and anion vacancies

C. Cation vacancies only

D. Cation vacancies and intrestitial cations

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_kIGg8Wo3XGNa

50. In a cubic close packing of spheres in there

dimensions the coordination number of each

sphere is:

A 6

B.9

C.3

D. 12

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_kIGg8Wo3XGNa
https://dl.doubtnut.com/l/_VJt8CesVHANo

51. When arrangement of electrons leads to

ferromagnetism?

A Tt

B. uarr darr uarr darr

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_VJt8CesVHANo
https://dl.doubtnut.com/l/_8wGoPEmLNSEU

52. For which crystal anion-anion contact is

valid?

A. NaF

B. Nal

C.CsBr

D. KCL

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_DKm1wAAMLvFV
https://dl.doubtnut.com/l/_ijmjogmUO9EF

53. The melting point of RbBr is 682° C, with
that of NaF'is988°C. The principal reason
that melting point of NaF is much higher than

that of RbBr is that:

A. The two crystsls are not isomorphous

B. The molar mass of NaF is smaller than of

RbBr

C.The intermolecular distance rc+ra is

greater for RbBr than of NaF


https://dl.doubtnut.com/l/_ijmjogmUO9EF

D.The bond is RbBr has more covalent

character than the bond in NaF

Answer: C

o Watch Video Solution

54, The oxide which shows metallic

conduction:

A. R603

B.VO


https://dl.doubtnut.com/l/_ijmjogmUO9EF
https://dl.doubtnut.com/l/_mba9XjAVyE4X

C. C’I‘Oz

D. All

Answer: D

° Watch Video Solution

55. An insulstor oxide is:

A. CuO

B. CoO

C. F8203


https://dl.doubtnut.com/l/_mba9XjAVyE4X
https://dl.doubtnut.com/l/_S48jM5xgiMFd

D. All

Answer: D

o Watch Video Solution

56. Which species is diamagnetic?

A Ca’™

B. H920l2

C.Sp3 ™

D. All


https://dl.doubtnut.com/l/_S48jM5xgiMFd
https://dl.doubtnut.com/l/_F42i8PPMkB0i

Answer: D

o Watch Video Solution

57. Which oxide of chlorine is paramagnetic?

A.Cl,0

B.ClO,

C. Cly,04

D. Cl,04

Answer: B


https://dl.doubtnut.com/l/_F42i8PPMkB0i
https://dl.doubtnut.com/l/_ck6HZmi1NIhU

° Watch Video Solution

58. Which crystal has the largest lattice

energy?

A. K(Cl

B. MgO

C.L:Br

D. NaF

Answer: B

| 8 l


https://dl.doubtnut.com/l/_ck6HZmi1NIhU
https://dl.doubtnut.com/l/_YNJL6m9Y03nv

59. The structure of MgO is similar to NaCl.

The co-ordination number of Mg is:

A.2

B.6

C.4

D.8

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_YNJL6m9Y03nv
https://dl.doubtnut.com/l/_Hbyh5UFGXhmo

60. 4 : 4 coordination is noticed in:

A. ZnS

B. CuCl

C. Agl

D. All

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_Hbyh5UFGXhmo
https://dl.doubtnut.com/l/_x9V3O0oUMbQe
https://dl.doubtnut.com/l/_dCPdOkPP23wQ

61. The oxide which shows transition from

metal to insulation, i.e., semiconductors are:

A. V504

B.VO,

C. TiyOs

D. All

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_dCPdOkPP23wQ

62. 8 : 8 coordination is noticed in:

A. MgO

B. Al,Os

C.CsCl

D. All

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_3rOQmyMDffRn

63. The oxide that possesses electrical

conductivity:

A. V05

B. C?“Oz

C. NiO

D. MnO

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_San8YFvd2PFO
https://dl.doubtnut.com/l/_769nt4jvhpFv

64. In the unit-cell of NaCl lattice there are:

A.3Na " ion

B.6Na " ion

C.6C1 1ion

D. 4 NaC'l units

Answer: D

° Watch Video Solution

65. Which species is paramagnetic ?


https://dl.doubtnut.com/l/_769nt4jvhpFv
https://dl.doubtnut.com/l/_9gq0iRGVNvBL

A.NO

B. Fed™

C. Fe*t

D. All are correct

Answer: D

o Watch Video Solution

66. The substance which possesses zero

resistance as O K:


https://dl.doubtnut.com/l/_9gq0iRGVNvBL
https://dl.doubtnut.com/l/_lqB97xeELjXF

A. Conductor

B. super conductor

C. Insulator

D. Semiconductor

Answer: B

o Watch Video Solution

67. Of the elements Sr,Zr,Mo,Cd and Sb, all of

which are in V period, the paramagnetics are:


https://dl.doubtnut.com/l/_lqB97xeELjXF
https://dl.doubtnut.com/l/_JUS3p7iyPVoO

A. Se,Cd and Sb
B. Ze,Mo and Cd
C. Sr,Zrand Cd

D. Zr, Mo| and Sb’

Answer: D

o Watch Video Solution

68. The cation-anion bond have the largest

amount of covalent character for:


https://dl.doubtnut.com/l/_JUS3p7iyPVoO
https://dl.doubtnut.com/l/_UNGpzt0RipTl

A. NaBr

B.SrS

C.CdS

D. BaO

Answer: C

° Watch Video Solution

69. Which is ferromagnetic?

A. N1


https://dl.doubtnut.com/l/_UNGpzt0RipTl
https://dl.doubtnut.com/l/_eUosDzG0CFZW

B.Co

C. CT‘O3

D. All

Answer: D

o Watch Video Solution

70. Which one is diamagnetic?

A.ClO,

B.Cu’™t


https://dl.doubtnut.com/l/_eUosDzG0CFZW
https://dl.doubtnut.com/l/_6WwjGqLQARKx

C.F~

D. N2+

Answer: C

° Watch Video Solution

type crystal

° Watch Video Solution



https://dl.doubtnut.com/l/_6WwjGqLQARKx
https://dl.doubtnut.com/l/_RIps35T3CHx1

72. Two examples of covalent crystals

are and

o Watch Video Solution

73. Fill in the blanks : The crystal structure of

CsClis. ...

o Watch Video Solution



https://dl.doubtnut.com/l/_Mbx9x6XJNfJE
https://dl.doubtnut.com/l/_9DbgdSoxICrD

74. In simple ionic crystals or types of

arrangement are generally -present.

° Watch Video Solution

sites

° Watch Video Solution



https://dl.doubtnut.com/l/_RpKnguOqEuQS
https://dl.doubtnut.com/l/_zDJ4ZGeZfCRx

76. In NaCl crystal lons occupy all the

octahedral sites.

o Watch Video Solution

77. Co-ordination numbers of Cs™ and CI~

in CsCl crystal are in the ratio ?

o Watch Video Solution



https://dl.doubtnut.com/l/_IRiaNn65BBCu
https://dl.doubtnut.com/l/_Y0E3itBwpUqf

78.1n NaCl crystal, one Na ™ ion is surrounded

by CIl™ ions.

o Watch Video Solution

79. Two metals showing cubic close packed

(ccp) structure are and

o Watch Video Solution



https://dl.doubtnut.com/l/_vMvWfo9dfo2c
https://dl.doubtnut.com/l/_PoaKh3LHFhqH

80. Zinc blende type structure has co-

ordination, while cesium chloride type,

structure has co-ordination.

o Watch Video Solution

81. Carborandum and dry ice are

and type of crystal respectively

° Watch Video Solution



https://dl.doubtnut.com/l/_Zmt8KhlzAwiI
https://dl.doubtnut.com/l/_xzXJRpBNMGG1

82. Two metals exhibiting hcp arrangement

are and

o Watch Video Solution

83. Which stoichiometric defect in crystal

increases the density of the solid ?

o Watch Video Solution



https://dl.doubtnut.com/l/_8hZ1SnnHccOn
https://dl.doubtnut.com/l/_0aiLMAZ1Lfqz

84. The number of nearest neighbours with
which a given sphere is in contact is

called

o Watch Video Solution

T
85. If radius ratio (—+) is in the range 0.414
r_

to 0.732, the possible arrangement is

o Watch Video Solution



https://dl.doubtnut.com/l/_jYz30E1NAXoj
https://dl.doubtnut.com/l/_umjxquX6xZGo

86. Face-centred cubic unit cell has

atoms.

o Watch Video Solution

87.Fill in the blanks : Glass is an example of .......

Solid .

o Watch Video Solution

88. More efficient packing is found in



https://dl.doubtnut.com/l/_bpre8TfcGWt0
https://dl.doubtnut.com/l/_of6bqbFudzek
https://dl.doubtnut.com/l/_iY6kLG2911Ic

o Watch Video Solution

89. Crystal of diamond is

o Watch Video Solution

90. Most metals act as superconductors in the

temperature range

o Watch Video Solution



https://dl.doubtnut.com/l/_iY6kLG2911Ic
https://dl.doubtnut.com/l/_lKadKg5KAGgc
https://dl.doubtnut.com/l/_vGl6MtcG9h2X

91. Closest packing of spheres is found in

o Watch Video Solution

92. Cesium chloride has structure.

o Watch Video Solution

93. Mg atoms adopt structure.

o Watch Video Solution



https://dl.doubtnut.com/l/_o0LIDkZFmbJe
https://dl.doubtnut.com/l/_dWF92oRvZlmb
https://dl.doubtnut.com/l/_va9t29Mhw8R3

94. The point defect which decreases the

density of a solid is called as

o Watch Video Solution

95.lodine is type solid.

o Watch Video Solution

96. In ZnS crystal, Zn®’" ions occupy



https://dl.doubtnut.com/l/_EwIcthD2huSN
https://dl.doubtnut.com/l/_llJUbcDc2MtR
https://dl.doubtnut.com/l/_sSfvXtq16oAe

o Watch Video Solution

97.Na (2)O crystal shows structure.

o Watch Video Solution

98. Co-ordination number of rock salt type

structure is -

o Watch Video Solution



https://dl.doubtnut.com/l/_sSfvXtq16oAe
https://dl.doubtnut.com/l/_RLZCEiI4GiaD
https://dl.doubtnut.com/l/_iMBParXiLbLX

99, solids are isotropic in nature.

o Watch Video Solution

100. solids are anisotropic in nature.

o Watch Video Solution

101. In most close-packed lattices, % of

space is filled.

° Watch Video Solution



https://dl.doubtnut.com/l/_7gjD2pz0WiR2
https://dl.doubtnut.com/l/_Zb2K5pdWCJop
https://dl.doubtnut.com/l/_yntFuex3eQK8

102. Cubic close-packed (ccp) lattice is also

called

o Watch Video Solution

103. Two types of voids are and

o Watch Video Solution



https://dl.doubtnut.com/l/_yntFuex3eQK8
https://dl.doubtnut.com/l/_6Nxot931Jx5F
https://dl.doubtnut.com/l/_juWhAREUdl0A

104. The point defect in a crystal that does not

change the density of a solid is

o Watch Video Solution

105. Stoichiometric defects are defects.

o Watch Video Solution

106. ZnS,AgBr,Agl exhibit defect.

o Watch Video Solution



https://dl.doubtnut.com/l/_KsRBde4YgbvB
https://dl.doubtnut.com/l/_39kyQuWqgyM1
https://dl.doubtnut.com/l/_pfDyHTSIFW2f

107. NaCIl,KCl,K Br exhibit defect.

o Watch Video Solution

108. If all the domains are oriented in the

direction of magnetic field,it is called

substance.

o Watch Video Solution



https://dl.doubtnut.com/l/_pfDyHTSIFW2f
https://dl.doubtnut.com/l/_UDZDSzOpQA3B
https://dl.doubtnut.com/l/_hLzmSgpTy4qu

109. If equal number of domains are oopsitely

aligned, it is called substance.

o Watch Video Solution

10. Iron ,cobalt,nickel and 'CrO (2) are

examples of substances.

o Watch Video Solution

111. lodine is an ionic type solid.



https://dl.doubtnut.com/l/_1LywzUFy6R0R
https://dl.doubtnut.com/l/_bqQY5fX9or8S
https://dl.doubtnut.com/l/_otM8gu650ukS

o Watch Video Solution

112. In most close-packed lattices, % of

space is filled.

o Watch Video Solution

113. ccp lattice is also called bcc.

True / False

o Watch Video Solution



https://dl.doubtnut.com/l/_otM8gu650ukS
https://dl.doubtnut.com/l/_TglfWlvAjhju
https://dl.doubtnut.com/l/_IJFPYQleJkUO
https://dl.doubtnut.com/l/_rTp86b5F3u5g

114. Zinc blende type structure has what co-

ordination ratio?

o Watch Video Solution

115. Co-ordination numbers of Cs™* and CI~

in CsCl crystal are in the ratio ?

o Watch Video Solution



https://dl.doubtnut.com/l/_rTp86b5F3u5g
https://dl.doubtnut.com/l/_u37sc6GpSpeW

116. Which stoichiometric defect in crystal

increases the density of the solid ?

o Watch Video Solution

117. Which type of defect does not affect the

density of the crystal ?

o Watch Video Solution



https://dl.doubtnut.com/l/_3YCyLsbo6kqC
https://dl.doubtnut.com/l/_ce6jB8Q5nNpn

118. The presence of Frenkel defect increases

the density of crystal. (true/false)

o Watch Video Solution

119. Six atoms are present per unit cell in a bcc

crystal. (Say True/ False)

o Watch Video Solution



https://dl.doubtnut.com/l/_ii0D4Rl9ADc8
https://dl.doubtnut.com/l/_0pnWG6jeseHK

120. Eight atoms are present per unit cell in a

fcc crystal.(Say True/False)

o Watch Video Solution

121. Give one example of metal deficiency

defect.

o Watch Video Solution



https://dl.doubtnut.com/l/_3gcdk045lXeU
https://dl.doubtnut.com/l/_No3xnd9jE2du

122. What makes the alkali metal halides

sometimes coloured which are otherwise

colourless?

o Watch Video Solution

123. Which stoichiometric defect decreases the

density of the crystal?

o Watch Video Solution



https://dl.doubtnut.com/l/_vBtPKVqVa9nP
https://dl.doubtnut.com/l/_fb0n2qDD44Ri

124. How does the presence of inteerstitial

defect affect the density of crystal?

° Watch Video Solution

125. Write an expression for the density (d) of
unit cell, if a is edge of unit cell in cm ,Z is
number of atoms in a unit cell,M is the molar

mass and NA is the avogadro number.

o Watch Video Solution



https://dl.doubtnut.com/l/_M2N22ENG76U8
https://dl.doubtnut.com/l/_3343RxNrXH3w
https://dl.doubtnut.com/l/_DUBP2lMr9Mzj

126. What is forbidden zone of an insulator?

o Watch Video Solution

127. Write the wide range of electrical

conductivities of solids in ohm ~*m L.

o Watch Video Solution

128. What is the range of electrical

conductivities of conducting solids?

| & I


https://dl.doubtnut.com/l/_DUBP2lMr9Mzj
https://dl.doubtnut.com/l/_SrbuEbQeyyet
https://dl.doubtnut.com/l/_4Vlk9rjMu8sQ

| ¥ Watch Video Solution |

129. Metals have conductivity of the order of

ohm tem~1):
( )

o Watch Video Solution

130. The insulators have very very low electrical

conductivities of the order

o Watch Video Solution



https://dl.doubtnut.com/l/_4Vlk9rjMu8sQ
https://dl.doubtnut.com/l/_uPiPLs0bevge
https://dl.doubtnut.com/l/_v0EBFXKlRLVw
https://dl.doubtnut.com/l/_xibZfOQLQG1U

131. Semiconductors have conductivities of the

o Watch Video Solution

132. What is the effect of temperature on the

conductivity of metals?

o Watch Video Solution

133. What is the effect of temperature on the

conductivity of semiconductors?


https://dl.doubtnut.com/l/_xibZfOQLQG1U
https://dl.doubtnut.com/l/_g0iln4GBu08D
https://dl.doubtnut.com/l/_Vo1m79yDx7tY

° Watch Video Solution

134. what type of semiconductor is obtained

when silicon is doped with arsenic?

o Watch Video Solution

135. What type of semiconductors is
obtained,when a group 14 element is doped

with an element of group 13 as impurity?

o Watch Video Solution



https://dl.doubtnut.com/l/_Vo1m79yDx7tY
https://dl.doubtnut.com/l/_ZFRzLjcoeeL3
https://dl.doubtnut.com/l/_2qEFrIJGSbN8

136. If all the domains are oriented in the

direction of magnetic field,it is called

substance.

o Watch Video Solution

137. Write the type of magnetism observed
when the magnetic moments are oppositely

aligned and cancel out each other.

o Watch Video Solution



https://dl.doubtnut.com/l/_2qEFrIJGSbN8
https://dl.doubtnut.com/l/_XIDFSQNtCTVg
https://dl.doubtnut.com/l/_ebU9e5CKcK1j

138. Name one ferromagnetic substance used

to make magnetic tapes of cassette recorders.

o Watch Video Solution

139. Give one common example of

antiferromagnetic substance.

o Watch Video Solution



https://dl.doubtnut.com/l/_LKHlsbuG01F1
https://dl.doubtnut.com/l/_CXIkPNbfp7WN

140. In which type of substances the magnetic
moments of the domains are aligned in
parallel and antiparallel directions in equal

numbers?

° Watch Video Solution

141. Name the most symmetrical crystal

system.

o Watch Video Solution



https://dl.doubtnut.com/l/_P53N072LDLC5
https://dl.doubtnut.com/l/_hNFGgvvxZIgZ
https://dl.doubtnut.com/l/_69fcIun44weX

142. Name the most unsymmetrical crystal

system.

o Watch Video Solution

143. How is unit cell related to space lattice?

o Watch Video Solution

144. How many crystal systems are there?

o Watch Video Solution



https://dl.doubtnut.com/l/_69fcIun44weX
https://dl.doubtnut.com/l/_cpgRsA8JCk4H
https://dl.doubtnut.com/l/_pkJPZuYsyAi8

145. How many Bravais lattices are there?

o Watch Video Solution

146. How many atoms are present in each unit

cell of a simple cubic crystal?

o Watch Video Solution

147. What is a body centered cubic?

| & I


https://dl.doubtnut.com/l/_pkJPZuYsyAi8
https://dl.doubtnut.com/l/_cI3N05pGT2rs
https://dl.doubtnut.com/l/_NcLqmVJ05sxc
https://dl.doubtnut.com/l/_NMyhG7ycI0lh

| ¥ Watch Video Solution |

148. What is a face-centred cubic unit cell?

o Watch Video Solution

149. Give the relationship between nearest
neighbour distance (d) and radius (r) of an
atom with edge length (a) of body-centred

cubic system.

o Watch Video Solution



https://dl.doubtnut.com/l/_NMyhG7ycI0lh
https://dl.doubtnut.com/l/_fewd7jwoaZdy
https://dl.doubtnut.com/l/_aDe93TOWWXNK

150. Give the relationship between nearest
neighbour distance (d) and radius (r) of an
atom with edge length (a) of a face-centred

cubic system.

° Watch Video Solution

151. What is the coordination number of an
atom in two dimensional square close

packing(scp)?

° Watch Video Solution



https://dl.doubtnut.com/l/_v0PQFNSTP4lo
https://dl.doubtnut.com/l/_fWoTpOhjItoK

152. What is the coordination number in hcp

and ccp ?

o Watch Video Solution

153. Arrange simple cubebody-centred
cubeface-centred cube and hexagonal close

packing increasing order of packing efficiency.

o Watch Video Solution



https://dl.doubtnut.com/l/_fWoTpOhjItoK
https://dl.doubtnut.com/l/_bYZxECV5NKfK
https://dl.doubtnut.com/l/_HBbIViMfj9LD
https://dl.doubtnut.com/l/_r6TJ0bOlVdSN

154. In close packing of N spheres,how many
(i)octahedral and (ii)tetrahedral sites are

present?

o Watch Video Solution

155. How many atoms are present per unit cell

in a hep structure?

° Watch Video Solution



https://dl.doubtnut.com/l/_r6TJ0bOlVdSN
https://dl.doubtnut.com/l/_dgPzygZde5mR

156. What is the precentage of empty space in

fee structure?

° Watch Video Solution

157. Empty space in BCC lattice is -

° Watch Video Solution

158. What is vacancy defect?

° Watch Video Solution



https://dl.doubtnut.com/l/_jXenyIpyaN8k
https://dl.doubtnut.com/l/_nNalCwTtoTIl
https://dl.doubtnut.com/l/_WhYknA1X7ScA

159. Which type of defect does not affect the

density of the crystal ?

o Watch Video Solution

160. Name one ionic solid,which shows both

Frenkel defect and Schotty defects.

° Watch Video Solution



https://dl.doubtnut.com/l/_WhYknA1X7ScA
https://dl.doubtnut.com/l/_96v5CYnLNOq6
https://dl.doubtnut.com/l/_ekd7r49Pz2Ix

161. Name one salt which is added to AgCl so

as to produce cation vacancies.

° Watch Video Solution

162. What is the effect of the presence of

schottky defect on the density of a crystal?

o Watch Video Solution



https://dl.doubtnut.com/l/_ANirdqedq69v
https://dl.doubtnut.com/l/_fq8OibjvSO9E

163. What temperature Fe;Os loses it's

ferromagnetism and becomes paramagnetic.

° Watch Video Solution

164. Which stoichiometric defect in crystal

increases the density of the solid ?

o Watch Video Solution



https://dl.doubtnut.com/l/_gixdS5YIvjYW
https://dl.doubtnut.com/l/_jzC5NmMIFzyp

165. what type of semiconductor is obtained

when silicon is doped with arsenic?

° Watch Video Solution

166. A group 14 element is to be converted
into n-type semiconductor by doping it with a
suitable impurity. To which group should this

impurity belong?

o Watch Video Solution



https://dl.doubtnut.com/l/_UZX0fy2kwiN0
https://dl.doubtnut.com/l/_xCktF4OBeIYj
https://dl.doubtnut.com/l/_bUUcyd9mQiUU

167. What is primitive cell ?

o Watch Video Solution

168. Give significance of a 'lattice point'.

o Watch Video Solution

169. Crstyalline substances are isotropic in

nature. (True/False)

° Watch Video Solution



https://dl.doubtnut.com/l/_bUUcyd9mQiUU
https://dl.doubtnut.com/l/_UdWqFYkt1ETF
https://dl.doubtnut.com/l/_X5fgNkkV4ZPY

170. Which network solid is an exceptionally

good conductor of electricity?

o Watch Video Solution

171. Which non-stoichiometric point defect is

responsible for colour in alkali metal halides?

° Watch Video Solution



https://dl.doubtnut.com/l/_X5fgNkkV4ZPY
https://dl.doubtnut.com/l/_RAr0MHeTPI8Y
https://dl.doubtnut.com/l/_P1YAIxa7vws3

172. Which one of the following solid exhibits
isotrypy ?

(Fe, Cu, Ag, graphite, rubber)

o Watch Video Solution

173. Which one of the following exhibits
anisotropy ?

‘(Rubber, plastic, glass, diamond)

o Watch Video Solution



https://dl.doubtnut.com/l/_DFGbA82zVm2B
https://dl.doubtnut.com/l/_4tPNEmuLDd45
https://dl.doubtnut.com/l/_0xLddT7tQVbo

174. What type of stochiometric defect is

shown by AgC'l?

° Watch Video Solution

175. What type of substances would make
better permanent magnets, ferromagnetic or

ferrimagnetic? Justify your answer.

° Watch Video Solution



https://dl.doubtnut.com/l/_0xLddT7tQVbo
https://dl.doubtnut.com/l/_kOGI61AjzhII

176. Which of the following are crystalline
solids?

(plastic, glass, Zns, SiC, PVC)

o Watch Video Solution

177. Which of the following is not a molecular
crystal ?

(I, Py, Solid CO,, ice, brass)

o Watch Video Solution



https://dl.doubtnut.com/l/_n0jv5m5MsMZ4
https://dl.doubtnut.com/l/_vBXn2SpoirC6
https://dl.doubtnut.com/l/_RZmrBGqiCzeK

178. Which of the following is not a covalent
crystal ?

(diamond, graphite, carborundum, ice)

o Watch Video Solution

179. Pick out the odd from the following ?

(diamond, AlN ,carborundum, SolidCO,)

° Watch Video Solution



https://dl.doubtnut.com/l/_RZmrBGqiCzeK
https://dl.doubtnut.com/l/_tFb3DtD3ZdKR

180. Due to which type of defect Zno turns

yellow on heating ?

o Watch Video Solution

181. Name two  substances

ferromagnetism.

showing

o Watch Video Solution



https://dl.doubtnut.com/l/_gIyQO3n5LZYT
https://dl.doubtnut.com/l/_wz09OqOugCXT

182. Pure elemental semiconductors like Sz

and Ge are called

° Watch Video Solution

183. Define unit cell and ‘space lattice’. What do
you understand by simple, face-centred and

body-centred unit cell.

° Watch Video Solution



https://dl.doubtnut.com/l/_jPpOXtNi01L2
https://dl.doubtnut.com/l/_47IF1j6VVQMT

184. Discuss the formation of n-type

semiconductors,

o Watch Video Solution

185. How do metallic solid and ionic solid differ

in conducting property ?

o Watch Video Solution



https://dl.doubtnut.com/l/_JGTjUDjqGl2O
https://dl.doubtnut.com/l/_ct6zGm4Psf3y

186. Which one of the following gases turn

lime water milky ?

o Watch Video Solution

187. For a cubic crystal, the face diagonal is

4.25A. Calculate its face length.

o Watch Video Solution



https://dl.doubtnut.com/l/_0TdgxoQfwkD1
https://dl.doubtnut.com/l/_ugjt9b5hgjjQ

188. Agl crystallises in cubic close-packed ZnS
structure. What fraction of tetrahedral sites is

occupied by Ag™ ions?

o Watch Video Solution

189. Inspite of long range order in the
arrangement of particles, why are the crystals

usually not perfect?

o Watch Video Solution



https://dl.doubtnut.com/l/_IjiqzgP8SMzF
https://dl.doubtnut.com/l/_4hStzI1Qm2N5
https://dl.doubtnut.com/l/_PPt3aLIVMI0B

190. Why does the table salt, Nacl, sometimes

appear yellow in colour ?

o Watch Video Solution

191. Define ferromagnetism.

o Watch Video Solution

192. Explain the following with

examples:

suitable


https://dl.doubtnut.com/l/_PPt3aLIVMI0B
https://dl.doubtnut.com/l/_t2EksM3s9h7v
https://dl.doubtnut.com/l/_prV0wgxdqV6Y

Ferrimagnetism

o Watch Video Solution

193. Why does Frenkel defect not change the

density of AgCl crystal?

° Watch Video Solution

194. Why is the Frenkel defect not found in

pure alkali metal halides?

o Watch Video Solution



https://dl.doubtnut.com/l/_prV0wgxdqV6Y
https://dl.doubtnut.com/l/_sTAW9U7tXhaC
https://dl.doubtnut.com/l/_81vpMUFWmjjR

195. Crystalline solids anisotropic in nature.

What does this statement mean ?

° Watch Video Solution

196. What is the effect of temperature on the

conductivity of metals and semiconductors ?

o Watch Video Solution



https://dl.doubtnut.com/l/_81vpMUFWmjjR
https://dl.doubtnut.com/l/_7VZLfeIoz53c
https://dl.doubtnut.com/l/_FtTMRqT7ADTp

197. What are ferromagnetic substances ?

o Watch Video Solution

198. How may the conductivity of an intrinsic

semiconductor be increased?

° Watch Video Solution

199. What is the effect of the presence of

schottky defect on the density of a crystal?



https://dl.doubtnut.com/l/_5muM5CjBViFa
https://dl.doubtnut.com/l/_wyADm4YMNQ5P
https://dl.doubtnut.com/l/_eZfTH6lvYebX

o Watch Video Solution

200. What is meant by 'doping'in

semiconductor?

o Watch Video Solution

201. What is F-centres ?

o Watch Video Solution



https://dl.doubtnut.com/l/_eZfTH6lvYebX
https://dl.doubtnut.com/l/_to4sYuFOxwL2
https://dl.doubtnut.com/l/_XS4JjA4hGEqT

202. What type of substances would make
better permanent magnets, ferromagnetic or

ferrimagnetic? Justify your answer.

o Watch Video Solution

203. Gold (atomic radius = 0144 nm)
crystallises in a face centred unit cell. What is

the length of the side of the cell?

o Watch Video Solution



https://dl.doubtnut.com/l/_qBifaz7oKArF
https://dl.doubtnut.com/l/_mntXijYq8Lqd
https://dl.doubtnut.com/l/_pHdRp13Y1IRR

204. Schottky defects lower the density of

related solids. explain.

° Watch Video Solution

205. Account for the following:
Conductivity of silicon increases on doping it

with phosphorus.

° Watch Video Solution



https://dl.doubtnut.com/l/_pHdRp13Y1IRR
https://dl.doubtnut.com/l/_KRGqz9HDoX4p

206. Aluminium crystallises in a fcc structure.
Atomic radius of the metal is 125 pm. What is
the length of the side of the unit cell of the

metal?

° Watch Video Solution

207. Why does presence of excess of lithium

makes LiCl crystals pink ?

o Watch Video Solution



https://dl.doubtnut.com/l/_7Jg1j46ACqLJ
https://dl.doubtnut.com/l/_sBR11LV5aAHa
https://dl.doubtnut.com/l/_N4RzqzOIMR2t

208. A cubic solid is made up of two elements
P and Q. Atom Q is present at corners of the
cube and atom P at the body centre. What is
the formula of the compound? What are the

coordination numbers of P and Q?

o Watch Video Solution

209. Why is the Frenkel defect not found in

pure alkali metal halides?

o Watch Video Solution



https://dl.doubtnut.com/l/_N4RzqzOIMR2t
https://dl.doubtnut.com/l/_IhiA3k5lgRo4

210. Give reason: Zinc oxide becomes yellow on

heating

o Watch Video Solution

211. CaCl, will introduce schottky defect when

added to AgCl crystal. explain.

o Watch Video Solution



https://dl.doubtnut.com/l/_lsMOBGsf7Vx2
https://dl.doubtnut.com/l/_iiM0nvmLrif5

212. Why solids have definite mass, volume and

shape?

o Watch Video Solution

213. What are Bravais Lattices ?

o Watch Video Solution

214. Name two most efficient close packed

lattices.



https://dl.doubtnut.com/l/_2y74X1UjCKR9
https://dl.doubtnut.com/l/_RHiTyBnZoqOq
https://dl.doubtnut.com/l/_uxFDusmzPF0g

o Watch Video Solution

215. How can you convert NaCl structure to

CsCl structure and vice versa ?

o Watch Video Solution

216. What are the common types of defects in

solids ?

o Watch Video Solution



https://dl.doubtnut.com/l/_uxFDusmzPF0g
https://dl.doubtnut.com/l/_XqI7OXKVRXbT
https://dl.doubtnut.com/l/_s6avf7xYf6G2
https://dl.doubtnut.com/l/_giXqD7AZX5wJ

217. What are different types of points defects

?

o Watch Video Solution

218. Distinguish between anisotropy and

isotropy.

o Watch Video Solution



https://dl.doubtnut.com/l/_giXqD7AZX5wJ
https://dl.doubtnut.com/l/_egMRk9aagowk

219. Calculate the number of atoms contained

within face-centred cubic cm.

° Watch Video Solution

220. Predict the percentage of space filled by
particles in (a) fcc (b) bcc (c) simple cubic

lattice.

° Watch Video Solution



https://dl.doubtnut.com/l/_xqgK7XPUbgNS
https://dl.doubtnut.com/l/_LXcfKUnC8RlW

221. What is the number of atoms in a unit cell
of
(a) a face-centred cubic structure?

(b) a body-centred cubic structure?

° Watch Video Solution

222. Give two difference between crystalline

and amorphous solids.

o Watch Video Solution



https://dl.doubtnut.com/l/_ph8hnc4NeoJO
https://dl.doubtnut.com/l/_appAZpXE0dsV
https://dl.doubtnut.com/l/_FvWa9NgLwAXi

223. An element crystallizes in a structure
having fcc unit cell of an edge 200 pm
.Calculate its density if 200 g this element

contains 24 x 10™23 atoms.

° Watch Video Solution

224. What is the difference between Schottky

defect and Frenkel defect.

o Watch Video Solution



https://dl.doubtnut.com/l/_FvWa9NgLwAXi
https://dl.doubtnut.com/l/_cQGYt9zaApxQ
https://dl.doubtnut.com/l/_8mXkYks7ZdoJ

225. Give two difference between crystalline

and amorphous solids.

° Watch Video Solution

226. Write the equation by which you can find
atomic mass of a metal from its density and

dimensions of unit cell.

° Watch Video Solution



https://dl.doubtnut.com/l/_8mXkYks7ZdoJ
https://dl.doubtnut.com/l/_lCxHdfLtFy2K

227. Niobium crystallises in a body-centred
cubic structure. If its density is 8.55 g cm 2,

calculate the atomic radius of niobium using

its atomic mass 93 u.

o Watch Video Solution

228. If the radius of the octahedral void is r
and radius of the atoms in close packing is R,

derive a relation between r and R.


https://dl.doubtnut.com/l/_2I2NKWTJiiMm
https://dl.doubtnut.com/l/_hnNGDqpfIqmd

Draw a diagram showing octahedral void and

derive the relation between r and R.

° Watch Video Solution

229. Calculate packing étficiency of a face

centred cubic metal crystal.

o Watch Video Solution

230. Define the following terms : (i)

ferromagnetism (ii) ferrimagnetism


https://dl.doubtnut.com/l/_hnNGDqpfIqmd
https://dl.doubtnut.com/l/_x729uUsC12RJ
https://dl.doubtnut.com/l/_BdlbapnGWxEY

° Watch Video Solution

231. What is the difference between Schottky

defect and Frenkel defect.

o Watch Video Solution

232. The density of lead 11.35 gem ~ % and the
metal crystallizes in fcc unit cell. Estimate the
radius of lead atom (at. massoflead = 207g

mol)

| e |


https://dl.doubtnut.com/l/_BdlbapnGWxEY
https://dl.doubtnut.com/l/_Rbtgq7l1VgrK
https://dl.doubtnut.com/l/_PR46VO20oDJu

& Wwatch Video Solution I

233. Why does presence of excess of lithium

makes LiCl crystals pink ?

o Watch Video Solution

234. Calculate the packing efficiency of a metal

crystal for a simple cubic lattice.

° Watch Video Solution



https://dl.doubtnut.com/l/_PR46VO20oDJu
https://dl.doubtnut.com/l/_d7n6OnVPJ2kU
https://dl.doubtnut.com/l/_AKSgsCHzzzbK
https://dl.doubtnut.com/l/_YOwZJeBMNrqu

235. How would you account for the following?
Zinc oxide exhibit enhanced electrical

conductivity on heating.

° Watch Video Solution

236. Iron has a body centred cubic unit cell
with the dimension of 286.65 pm.The density
of iron is 7.874 gem ~3.Use this information to

calculate avogadro's number. (AtmassofFe

— 55.845u)

° Watch Video Solution



https://dl.doubtnut.com/l/_YOwZJeBMNrqu
https://dl.doubtnut.com/l/_YPcjgWgCutNE

237. What are different types of points defects

?

o Watch Video Solution

238. Predict the percentage of space filled by
particles in (a) fcc (b) bcc (c) simple cubic

lattice.

o Watch Video Solution



https://dl.doubtnut.com/l/_YPcjgWgCutNE
https://dl.doubtnut.com/l/_lKPINigWOagw
https://dl.doubtnut.com/l/_BCJLo7PzL8Ie
https://dl.doubtnut.com/l/_sKsLEQs6kRG2

239. Distinguish between anisotropy and

isotropy.

° Watch Video Solution

240. What are the important consequences of

schottky and frenkel defects in crystals ?

o Watch Video Solution

241. An element occurs in bce structure with

cell edge of 288 pm.its density is 7.2 gem ~°.


https://dl.doubtnut.com/l/_sKsLEQs6kRG2
https://dl.doubtnut.com/l/_0ym81VNQDNNN
https://dl.doubtnut.com/l/_Cd8vJGOFhA5W

calculate the atomic mass of the element.

o Watch Video Solution

242, Account for the following:

(i) schottky defects lower the density of
related solids.

(ii) Conductivity off silicon increases on doping

it with phosphorus.

o Watch Video Solution



https://dl.doubtnut.com/l/_Cd8vJGOFhA5W
https://dl.doubtnut.com/l/_vB3tkVdYPDEG

243. What type of semiconductor is produced

when silicon is doped with boron?

° Watch Video Solution

244.What is the number of atoms in a unit cell
of
(a) a face-centred cubic structure?

(b) a body-centred cubic structure?

o Watch Video Solution



https://dl.doubtnut.com/l/_3SWkwLRr3EHg
https://dl.doubtnut.com/l/_JdMhFAe9aVlo

1. Tungsten crystallises in body centred cubic
crystal. If the edge of the unit cell is 316.5 pm,

what is the radius of tungsten atom?

o Watch Video Solution

2. Iron has a body centred cubic unit cell with
the dimension of 286.65 pm.The density of

iron is 7.874 gem ~ ®.Use this information to


https://dl.doubtnut.com/l/_3fhctHXyqk89
https://dl.doubtnut.com/l/_bNhPY9B87SLt

calculate avogadro's number. (AtmassofFe

— 55.845u)

° Watch Video Solution

3. Sodium crystallizes in a bcc unit cell.
calculate the approximate number of unit cells

in 9.2 g of sodium. (AtomicmassofNa = 23u

)

o Watch Video Solution



https://dl.doubtnut.com/l/_bNhPY9B87SLt
https://dl.doubtnut.com/l/_wpVHXRv0I00M

